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[5] HHDELHIZED % ES.
/ABC = /ACB = 15° Xk V)

/BAD = 15° x 2 = 30°

koT, AB=2X), AD= 3, BD=1

=IO ER LY
BC? = (2+ V3) +12=8+4V3

L72285 T

BC = \/8+4\/§= \/8+2\/E= Vo + V2

F7,
/CBD = 75°
k&,
sin 15° = 1 = Yo - V2 (%)
V6 + V2 4
cos1so = 2+t V3 _ V6 + V2 )
V6 + V2 4
1
tan 15° = =2-V3 (&
2+ V3 )
§in75° = 2+ 3 _ V6 + V2 )
V6 + V2 4
cos75° = 1 = V6 - V2 (%)
V6 + V2 4

tan75°:¥:2+ Vi@
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(6] iDL 512, A B, C D%ED,
AB=xcm, CD=ycm &B<.
(D x =120 x tan 38° = 120 x 0.7813 = 93.756
LoT, HOBSDER,
¥94em (B

(2) 94 = (120 + y) x tan 30°
= (120 +y) x 0.5774

Wz 12

0.5774y = 94 — 120 x 0.5774 = 24.712

_ 24712
Y= 05774

IoT, »k

=42.79

HWa3emBEh G i E SRy (B

(7] (1) ZFFHoEB LY, BC= V72 +242 =25

£oT,

© tanB:%:% &)
@ sinC=%:% %)
© cosC=%=% )

@) L2 2 4V _ 9
sin“A =1 —cos A—l—(g) =25

(ADEALY, sinA>0THoLHH75H
3
inA =— &
sin s (&)

F7,

3
_sinA _ 5 _ 3 o
tanA—COSA % (&)
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[8] (1) IEHAED 1 DOFMAIT 108° 7255

130° — 108° _ 36°

(EAD = /ADE = /DEC = /ECD = >

o7,
/AEF = /DEA - /DEC =72°, (/AFE = /ADE + /DEC = 72°
£, AAEF X80 =M. Wil
AF=AE=1 (&)
¥72, FD=x &< &, AACD o ACDF &9
AC:CD =CD : DF Sl +x):i1l=1:x
BHLT, P+x-1=0. x>0&0

FD=x=_1+‘/§ (%)

(2) (1) DFER L E Y

cos72° = ﬂ (&)
4
c0s36° = ! +4‘/§ (%)
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[9] 90° <0< 180° & ¥, sin@ >0, cosh < 0.
. 1
F72sinf+cosf=— kD
V2

1
V2

1

1+ 2sinfcosf = >

2
(sin9+0059)2=( )
o _ 1
. sinfcosf = T

x=sinf, y=cosf L B &

1 oL
=0 w=—p O

+ =
Xty \/_
1 - - e
XY, y=—-x. T2 @QIIRALT
@ y=5 ¥ ©)

INZHENT
x:w@ 0) (tg)

O IIALT

:@KO)

=

(&)

<mlEE>
sinf +cosf = —— N, W23 LT

1+ 2sinfcosf = %

sinfcosf = 7
Wz 12 sin6, cosO 2 RITFER

xz—(sin9+cos9)x+sin90039=0
2 1 1

= xX-——x--—=0
\2 4

= 42-2V2x-1=0 ---(#)
D2HTH 5.
#) = x=ﬁ+ V2 +4
2+ 6
- 4
0°<H<180° X 0<sing< 1. WZIC
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inHIERER

(1) () =FFHoE#RXY, AB?=22+32=13
X -7T, AB= VI3

2V13
sing=4C - _2__ (%)

BA i3 13

BC 3 _3V13

-2~ __2 _ =%

coso = AB \/E 13 (=)
__CA_i %

tanf = BC ~ 3 (&)

Q) EFHOERIY, AC? =252 -24% =49

$oT, AC=7
g_ BC _ 24 P
sinf = AB 25 (&)
7
c059=£=— (&)

BA ~ 25 a

tanf = B = ﬂ (%)

AC 7 =

(2] /B =90°-40° =50° 7275,

a=10sin40° = 10 x 0.64 = 6.4 (%)
b=10sin50° = 10x0.77 = 7.7 (&)
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[3] FHDLH1Z, P, Q REEDS.
TR=xm &35,

T
ATBR ZiE /M &0 =47,
A7 BQPR 3£ 5
THLND °
B 45" | R
BR = QP =TR = x (m)
30° [] []
7z A P
T 7, Q

RP = BQ = 150 — 100 = 50 (m)

X o7, tan30° = T, U]

AP
%:% = 1000+ x = V3(50 + )
e (V3-1x=1000-50V3
w2 1000-50V3 _ yos s uos
V3-1

LoT, KOHEEIE

x+150=475V3 +575(m) (&)

2
[4] (1) sin29+(i) 11y, sing=30

7 49
§inf>0 110, sinezz—‘;E (%)
210
; — 2vV1
X 57T, tanf = smg = ; = VIo (&)
7

sin®@ — 2sinfcos @ + cos> § =
1—-2sinfcosf =
2sinfcosf =

" sinfcosd = % €))

2512,

sin® 6 — cos® @

(sinf — cos 9)(sin2 6 + sin 6 cos 6 + cos? 0)

_1 4

= 3x(1+9)
13

B
>7 (€=))
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20& 3k (2) —3AKREX FFK-
[

[1] (1) © sin54° = sin(90° — 36°) = cos 36° (%)
@ co0s89° =cos(90° — 1°) = sin 1° €2))

1 1 _ o m
© nag = @n(00° —d7) _ @n4r (&)

(2) @ sin 130° = sin(90° + 40°) = cos 40° (&)
@ sin 145° = sin(180° — 35°) =sin35° (&)
(® cos118° = cos(90° + 28°) = —sin28° (&)
@ cos152° = cos(180° — 28°) = —cos28° (&)

® tan91° = tan(90° + 1°) = — 1 €2))
tan1°

[2] (1) sin@z% 0, 6=30°, 150° (%)
(2) cos8=0L£0D, 6=90° &)
@G)tanf=-V3 k0, 6=120° (%)
(4) 2(1 —sin®0) +5sinf—-4=0 £ b

25in>0 —5sinf+2=0
2sinf —1)(sinf-2)=0

0°<0=L180° BT, 0<sinf<172H5, sinf =
L o7T, 6=30° 150° &)

y AY y
., @ 1] @ 1 3)
1
_________ 2l
. ™ ™
-1 o 1 x -1 o 1 x -1




[31 (1) [MXb, 0°260<60° 120°<60<180° (&)

Q) Kb, 45°560<90° (&)

(3)  cos(180°=6) = —cosh £ 1

1 V3
< = =
7= cosf < )
£oT
% > cosf > —%
COSQS% ...... @
COSG> % ...... @

O &b, 60°<60<180°, @ &b, 0°20<150° DT

60° <0 <150° (%)

(4) V2cosO+1 & 2sinf— V3 BEFETHIUTL V25,

@ \50059+le
2sinf— V30

FAte

(ii) V2cosh+ 1 <0
2sinf— V320

(i) D& &

cosf =z —

3
2

Sl

2

sinf £

0, 0°260=<60° 120°<60<135°

O N S

S

sing > ——

“l%

w73 0L v
L7zh>T, 0°260=560° 120° < 6 <135° (%)
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(1) AY 2 ALY
1 ﬁ @ 1
......... T~ 2
-1 ) 1 x -1 0o 1
y AY
@ ! V3
| TS 2
1
2 ;
-1 [
" . ,
1 x __1L o
V2
[4] (1) sin@+ cos = g DiliN%E 2 Fl T
sin2€+2sin6?cos€+c0529:%
Lo, sin*f+cos?h=1%DY
. 1
sinfcosf=— (&)
4
. s 2 . 2, 1 _ 1
(2) (sin@ — cos )~ =sin“ @ —2sinfcosh+cos 0 =1-2X T3
0°<0<45° LV, sinf<cosh 725, sind—cosh <0
£oT
sin9—cos€=—L =—£ €2))
\2 2
3) sin3@ + cos® 6 = (sin @ + cos 6)(sin’ 6 — sin @ cos O + cos’ 6)
V6 1)_3 e
= x(i-)=5% @
(4) tan + 1 _ siné cost _ sin® 0 + cos? 6 _ —4 (&

tan® ~ cosf = sind sin @ cos 6
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[5] (1) sin®0+cos?0=1 %V, 514,

2(1 —sin®6) —sinf = 1
2sin*@+sinf-1=0
2sinf —1)(sinf+ 1) =0

Cange L
. sinf = R 1
0°<H<180° LY, 0<sinf<1 (M1ZW) THorb,
sin@:% L 0=30°150° (%)
(2) cosf=x &BL &,
1
x> ——
V2
M2 Xy,
0°<0 <45 (&)
(3) 2c0s’ 6 —cosf <0

cosf(2cosfd—1)=<0

1
. < < —
5o 0Zcosf £ >

cosf=xtBL,

1
<x< —
O=x=2
B30,
60°<0<90° (&)
y y
H 1 B2
y== ////——\\\
2 Y S
< — / ,\\\
\\\\ // / //\
[t N L L
O O |

4-4



[6] (1) 6=90° D& &, GRIIWIZLAEVDT, §%90° L T5H5IEHNTEL. §590° D&

&,
cosf+sinf _ 1 +tanf s,
cosf—sind 1 —tand S

1 +tan@ —24+13

1 —tané@
o, tarlé’:l-’_\/g:L (%)
3+V3 43
1 +tan20 = —1 X, cos2f = >
cos2 6 4
tan@>0 XV, 0°<0<90° DT, cosd>0 LD
cos@zﬁ (&)
2
L72285 T

sinf = tanfcos§ = % (%)

(2) cos@=0n, &, GRIIARHIZEHNS, W% 3cos? 6 (x0) THID &

8 1
—tanf =
3 cos? 6
iR, a4l = —— kAT B
cos~ 0
tan29+1=%tan6
0°<0<45° L), 0Stanf<1,0=<cosh<1THALHZEIZIFEFELT
tang = 4- V7 €))
3
xR ATEL L
29_3 3 _ 1
cos 0 = 3 X PR =16 ><(8+2\/7)
cos@ = 1+ V7 (%)
4
LoT
sin@ = 3 = V7 -1 (%)
8Xl+\/7 4
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[7]1 (1) (55) =sin@ +cosf—sinf —cosd =0 €2))

(2) (5:3%) = cos? 0 + sin2 0 + (- sin 6)* + (= cos §)>
= 2(sin® 6 + cos® 6)
=2 B

(8] G2 on7z X e L T,
2sinf-a=0
sinf = %
£oT, KOLEH a OFMHIZ, HOKEY
0<4 <1

2
= 0<a<2 &
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(9] sinx +siny = V2 O
cosx+cosy = V2 @

®, @ &b, siny= V2 —sinx, cosy= V2—cosx THDH5
(‘/E—sinx)2+(\/§—cosx)2=1
sinx+cosx=‘/§ O]
" cosx= V2 —sinx

L, E5Csin’x+costx=14D

sin23c+(\/§—sinx)2 =1

(sinx - %)2 =0

. smxz% —-®
® &y, cosx = — O THDLINS, @, O LY
V2
x =45°
—7, ® 0 %0, @IRALT
$+siny: V2
$+cosy: V2
CRAEET S L, siny:%, cosy:%
L7225 T, 0°<y<180° L1, y=45°
x=45%,y=45 (&)
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[10] (1) VB3<2 XD, =2+ V3=tanf<0. WZIZ90° <6< 180°.
tanf=-2+ V3 LV tan(180°-0) =2 — V3

FoTH&LY

2= (2- Vi) 41
=3+4-4V3+1 //x//,_lz—‘/g

=8-4V3 \ |

x>0“(“a5)7°>75‘% 180° — @
x=8-4V3
= y8-2V12
=V6- V2
£oT
_ - V2
sin0 = sin (180° — ) = —2 V3 _ V6- V2 €))
-2 4
cosf = —cos (180° — ) = — =- Vo + V2
NG i
(2)tan9=%l@,0°<9<90°.
W2 IZXED
V10
. 1
sinf = ——
V10
3
cosf = ——
V10
Wz A2
1 3 ¥
(sin @ + cos 6)2 = ( + )
Vio V10
oy
V10
8
- ®

5
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inHIERER

(1] (1

2

2] (1

@

(3] (1)

(sin 35° + €08 35°)% + (sin 55° — cos 55°)%
=(sin 35° + c0s 35°)% + {sin(90° — 35°) — cos(90° — 35°)}?
=(sin 35° + c0s 35°)? + (cos 35° — sin 35°)?
=2(sin® 35° + cos’ 35°)
=2 (B
sin 170° cos 80° + cos 10° sin 80°
=sin(180° — 10°) cos(90° — 10°) + cos 10° sin(90° — 10°)
=sin 10° sin 10° + cos 10° cos 10°
=sin® 10° + cos® 10°
=1 (&)
sin 120° = sin(90° + 30°) = cos 30°
sin 130° = sin(90° + 40°) = cos 40°
0°<0<90° I2BWVT, O EIT 5 &, cosb IZHAT 205,
cos 60° < cos 50° < cos40° < cos 30°
Lo,
c0s 60° < cos50° < sin 130° < sin 120° (&)
€08 25° = cos(90° — 65°) = sin 65°
sin 140° = sin(180° — 40°) = sin40°
0°20=<90° I2BWVTC, OIS 2L, sing SIS 2705,

sin 25° < sin40° < sin 65°

Lo,
sin 25° < sin 140° < cos 25° €2))
G
y (2) sinf = -
y
| V3
1 2
120° 203
N 1204
T 10 " 60 i
3 -1 0 1

— o o K
roT 0=1200 (&) LoT, 6=60° 120 (%)
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3) “4)

y 2(1 —sin?6) —sinf—1=0
{ 2sin’@+sinfd—1=0
2sinf — 1)(sinf+ 1) =0
135 0<sing<1 XV, sinf=—
X 2
= 0 T y
1
......... 71
-1 2
roT, =135 (& 30°
(&) 3 5 —
LT, 6=30° 150° &
295 L
() y (6) cos 6>ZJ:V),
1 1 1
Z cosfd < ———, — < cosfl
2.1 V2 V2
y
30° X
-1 0 1 1
£ oT, 30° <6< 150° €)) 135°
5 X
I B
TR
Lo,

0° <60 <45° 135° < 0 £ 180°

[4] (1) cos(180° - @) = —cos6 £ 1), cosez—%
1Y 8
sin26+(—?) =140, sin20=3
0<sinf 17205, sin9=¥ (%)
22
¥ 72, tan9=%=—2‘5 (&)
3



o _ — 1 — _

(2) tan(90° - 6) = peew £V, tanf =
1 1Y 20
=1+ 5 X0, cos’=

I ENI Y

cos2 6
tanf <0 £V, cos@ <0725, cosf = —2—;@

F72, sinf=-— 5 3 S

245 X(_l)_ﬁ =)
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